Unit 7 — Introduction to Trignometry

Multiple Choice Questions

Q.1 Multiple choice questions:

Four possible answers are given for the
following questions. Tick (¥') the correct
answer.

1.  The union of two non—collinear rays,

which have common end point is called:
(a) Anangle (b) adegree
(c) A minute (d) aradian

2. The system of measurement in which the
angle is measured in radians is called:

(a) CGS system
(b) Sexagesimal system
(c) MKS system

(d) Circular system

3. 20° = e
(a) 360’ (b) 630’
(c) 1200 (d) 3600
4 ? Radians =
(a) 115° (b) 135°
(c) 150° (d) 30°

5, If tanB = \/g,theneis equal to:

(a) 90° (b) 45°
(c) 60° (d) 30°
6. sec®® =
(a) 1-sin*0 (b) 1+tan?0
(c) 1+cos?0 (d) 1-tan?*0
! 1+51i116+1—:i118
(a) 2sec?O (b) 2cos?*0
() sec?® (d) cosO
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cosec®0 — cot®0 =
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In degree measurement, 1° 1s equal to:
(@) 1 (b) 60
(€ 90 (d) 360’
In degree measurement, 1’ is equal to:
(a) 1 (b) 60"
(c) 90" (d) 360"
How many right angles are there in 360
degrees?
(a) Two (b) four
(c) Six (d) eight

If ‘v’ is the radius of a circle, then its
circumference is:
T

(a) ST (b) T

(c) 2mr (d) 4mr

The radian measure of an angle that form
a complete circle 1s:
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2n radians =
(a) 0° (b) 90°
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(c) 180°

n radians =
(@) 0°

(c) 180°
1° =

(a) 180mradian

(c) i1'&1dian
180

1 radian =
(a) (180m)°
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(a) 30°
(c) 60°
T radians —
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(a) 30°
(c) 60°
E1‘adiaus:
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(a) 30°
(c) 60°
E1'adians:
6
(a) 30°
(c) 60°
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(a) 90°
(€ 270°
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(a) 0.0175 radians

(b) 0.175radians
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() 1.75radians
(d) 175 radians

A part of circumference of a circle is
called:
(a) radius (b) chord

(c) sector (d) arc

Formula for arc length is:

(a) (=10 (b) 1=16
"
0="»(r d [ =—
(c) 1 (d) 5
Area of a circular sector =
(a) 10 (b) 10
1 1,
(c) E 10 (d) 5 0
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(a) CosO (b)  SecO
(c) CosecO (d) Cot0
1 —
Cosb
(a) SinO (b)  SecO

(c) CosecH (d) Cotb
1

tanez
(a) tan® (b)  SecO

(c) CosecH d)  Cotf

Sin45° =

(a) 1 (b) 2
1 4 0

(c) 7 (d)

Cosd5°=

(a) 1 (b) 2
! d 0

(c) o] (d)

tan45° =

(a) 1 b) 2
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(c) 2 (d)
Cosec30° =

|
(a) 3 (b)
() 2 (d)
Sm60° =

|
(a) 5 (b)
() 2 (d)
Cos60° =
(@) % (b)
() 2 (d)
tan 60° =

! b
(a) 3 (b)
© 3 (d)
Cot60° =

|
(a) B (b)
© 3 (d)
Sec60° =

! b
(a) 3 (b)
() 2 (d)
Cosec60° =

|
(a) 3 (b)
(c) 2 (d)

In which quadrant
CosecO are positive?
(@) 1 (b)
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(¢) I (d IV

In which quadrant only Cos6 and Sec6
are positive?

(a) | (b) Il

(c) I (d 1V

In which quadrant only tan© and Cot0
are positive?

(@) | (b) Il

(c) I (d) 1V

In which quadrant 6 lie
Sind =>0,tan0<0?

(@) | (b) Il

when

(¢) I (d IV

In which quadrant 6 lie when
Cos0<0,Smn0<07?

(@) | (b) I

(c) I d v

In which quadrant g Jie when
SecO =0,Sm0<0?

(@) | (b) I

(¢) IO (d 1V

In which quadrant 6 lie when
Cos0<0,tan©@<07?

(@) | (b) I

(¢) I (d v

In which quadrant 6 lie when

Cosec0=>0,Cos0 =07
(a) | (b) 1l

(¢) I (d 1V

In which quadrant 6 lie when
Smd < 0,SecO <0?

(@) | (b) Il

(¢) I (d IV
Sin"0+Cos” 0=

(a) tan” 0O (b) Cot’0
() 1 (d 0
1+tan” 0 =

(a) Sin’0 (b) Cos’0
(c) Cosec™ 0 (d) Sec’0
1+Cot™0 =

(a) Sin°0 (b) Cos’0
(¢) Cosec 0 (d) Sec’0
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In which quadrate all trigonometric ratios
are positive?

(a) | (b) Il

(¢) I (d IV
Fundamental trigonometric ratios are:
(a) 3 (b) 4

() 5 (d o6
Which one is a quadrant angle?
(a) 30° (b) 45°

(¢) 60° (d) 90°
Sin6.cosecH =

(a) 1 (b) 0

(¢) Sin® (d) CosH
Cosf. Sech =

(a) 1 (b) tan®
(c) 0 (d) Cotd
tanOcot 0=

(a) sinB (b) SecH
() 1 d o

Angles between 180° and 270° are in
which quadrant?

(a) | (b) Il

(c) III (d 1v
Angles between 0° and 90° are in which
quadrant?

(@) 1 (b)

(c) III (d 1V

Sin (-310°)=.......

(a) Sin310° (b) =Sin310°
(c) Cos3l0° (d) tan310°
Sec (-60°)=.......

(a) —Sec60° (b)  Sec60°
(¢) Cos60° (d) Cot60°
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